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Turing Test: Can machines think?
e 1950, Alan Turing, “Computing Machinery and
Intelligence,” Mind LIX (236): 433-460
* Are there imaginable digital computers which
would do well in the following | @ @
imitation game? tricker

* the interrogator C, is given the task of trying (Ajl ?he'per
to determine whether player A is male

while player B is female or the other way 0g?
around. Player A tries to trick C into o :
making wrong decision. Player B attempts

to assist C into making correct decision. The ¢ interrogator
interrogator only uses written questions and

responses to make the decision.

* The interrogator C, is given the task of
trying to determine which player—A or B —
is the lying computer and which is an
honest human. The interrogator only FUA RS
uses the responses to written questions @ @
to make the decision. B

A B
e "If the interrogator decides wrongly 0g3?
as often when the game is played 5 i
with the computer as he does when the Q
game is played between a man and a c

woman", it may be argued that the
computer is intelligent.

No machine is close to pass the test
for a very long time.

Finally, a machine is no longer a machine.

* On 7 June 2014, 60th anniversary of Turing's
death, a Turing test competition was held at
the Royal Society London and was won by the
Russian chatter bot Eugene Goostman. The
bot, during a series of five-minute-long text
conversations, convinced 33% of the contest's
judges that it was human.

* The Turing test had been passed for the first
time.

A Security Definition for Enc(-)

* an indistinguishability game

Challenger C Adversary A
(pk, sk) = KeyGen(k) ek >
Choose my and m;
m, #m
Choose b e, {0, 1} (Mg, m,) ° !
c=Enc(pk, m,)
Challenge: ¢
< guess b' € {0, 1}
A wins the game if b = b Adv (k) = |Pr{b:b'}-%|

Enc() is secure if Adv, (K) is negligible T\ —ljJ 53 ?EI\EE




